

From the Heart of the Harghita Mountains

Perla Harghitei natural mineral water is a truly genuine source of life. With a balanced mineral content, a pleasant taste and its microbiological purity, Perla Harghitei is a mineral water full of vitality. Whenever you enjoy it, you will find all the harmony and mineral energy of the volcanic mountains from where this blessed water springs from. In every bottle of Perla Harghitei there is a message of love.

Love for the nature.







Perla Harghitei natural mineral water has a balanced mineral content, rich in calcium and magnesium with a pleasant taste and microbiological purity. It is a healthy product, recommended for daily consumption, at any age.





						950	160			
	Produs	Volume	Items/box	Boxes/pallet	Items/pallet	Pallet wight	Pallet size	Validity	EAN / item	EAN / box
1	PERLA HARGHITEI natural mineral water fortified with gas from the spring	0,5L	12	108	1296	709 kg	120/80/141 cm	12 months	5942262000068	5942262000778
2		1L	6	105	630	712 kg	120/80/141 cm	12 months	5942262000129	5942262000136
3		1,5L	6	84	504	820 kg	120/80/152 cm	12 months	5942262000044	5942262100041
4		2L	6	64	384	833 kg	120/80/156 cm	12 months	5942262000020	5942262100027
5	PERLA HARGHITEI natural mineral water still	0,5L	12	108	1296	709 kg	120/80/141 cm	12 months	5942262000938	5942262001423
6		1L	6	105	630	712 kg	120/80/141 cm	12 months	5942262001416	5942262001430
7		2L	6	64	384	833 kg	120/80/156 cm	12 months	5942262000921	5942262001447







with gas

from the spring

CO₂ minimum

3.500 mg/l

During its way to the surface, the Perla Harghitei mineral water is flowing filtered trough the volcanic rocks of the Hargita Mountains, acquiring its mineral energy and vitality, enriched with a balanced mineral content, thus helping the human body better functioning.



Natural mineral water non-carbonated						
SOURCE	Typical Mineral Composition mg/l					
AZ SÂNSIMION	Calcium Magnesium Potassium Sodium Bicarbonate Chloride Sulphate	105 10,3 1,57 6,09 379 10,0 11,0				

		Product	Volume	Items/pack	Packs/pallet	Items/pallet	Pallet weight	Pallet size	Validity	EAN / item	EAN / pack
		PERLA HARGHITEI natural mineral water fortified with gas from the spring	0,33L	24	40	960	620 kg	120/80/130 cm	12 months	5942262000655	5942262000662
			0,75L	12	45	540	730 kg	120/80/160 cm	12 months	5942262000631	5942262000648
2		PERLA HARGHITEI natural mineral water still	0,33L	24	40	960	620 kg	120/80/130 cm	12 months	5942262000945	5942262000976
	-		0,75L	12	45	540	730 kg	120/80/160 cm	12 months	5942262000952	5942262000969

Soft drinks with carbonated natural mineral water







Elderberry









Raspherry





	Allegria Elderb	erry and lemon	Allegria	Orange	Allegria Raspberry						
	0,5L	2L	0,5L	2L	0,5L	2L					
Item/box	12	6	12	6	12	6					
Box/pallet	126	64	126	64	126	64					
Units/pallet	1512	384	1512	384	1512	384					
Pallet weight	858 kg	832 kg	858 kg	832 kg	858 kg	832 kg					
Pallet size	120/80/161 cm	120/80/160 cm	120/80/161 cm	120/80/160 cm	120/80/161 cm	120/80/160 cm					
Validity	9 months										
EAN/item	5942262000235	5942262000242	5942262000211	5942262000228	5942262000907	5942262000334					
EAN/box	5942262001454	5942262000761	5942262001478	5942262000754	5942262001577	5942262000341					







Perla Harghitei

NATURAL MINERAL WATERS • CARBONATED SOFT DRINKS

Sâncrăieni

Over 40 years tradition in bottling the natural mineral waters

The sources of natural mineral waters - bottled by Perla Harghitei S.A. are around Sâncrăieni, a village placed between two ancient volcanic mountain ranges: Harghita (1800 m) and Ciuc Mountains (1500 m). The area - called Lower Ciuc, is amazingly beautiful and extremely rich in mineral water springs. In Sâncrăieni only, there are more than 80 springs and wells.





The village of Sâncrăieni is located in Harghita County, along the Olt river, 650 m above sea level. The locality is 10 km from the county seat, Miercurea Ciuc. It was firstly mentioned in a letter issued by the Pope in 1332 and its consacrated name in latin is "Sancto Rege" (meaning The Holy King).



The unique natural setting guarantees the purity of the mineral waters. The waters springs from the volcanic region of the Harghita Mountains - one of the most well-know in Europe thanks to its abundance in natural mineral water springs. The

Harghita Mountains are protected from any pollution, being far from hectic urban centers, industrial facilities or intensively used agricultural lands. This makes the area an unspoiled cradle of nature.





Mineral water bottling began in the village Sâncrăieni since 1952. The first factory, with a bigger capacity bottling lines was built in 1974, when production began under the brand name Perla Harghitei - the most important brand of the company - continously present on the market for over 40 years. Today, Perla Hagrhitei S.A. - the

bottler of mineral waters Perla Harghitei, Tiva Harghita and Cristalina, respectively carbonated soft drinks Allegria, has 8 bottling lines, with a total capacity amounting to 650 million liters per year.





S.C. PERLA HARGHITEI S.A.

537265 Sancraieni, Garii st. 600 Harghita, Romania Tel. +40 372 772222 Fax +40 266 332686 www.perlaharghitei.ro



